Linking

Linguistics 7420

Homework #3

Due: Tuesday, October 10, 2006

Question I. Ditransitive constraints. Examine the contrasts in (1-3), respectively. Assuming a ditransitive construction for English that links grammatical functions, semantic roles and pragmatic roles (topic and focus), explain the constraints that underlie the contrasts in (1-3), respectively. Describe these constraints as constraints on linking between any two of these three levels. Notice than in (3), only the second example is an instance of the ditransitive construction:

(1)
a.
Sam was given the present.

b. ??The present was given Sam. 

(2)
a.
??Who did they give a present?

b. What did they give Sam?

(3)
a.
She gave one copy code to every student. (ambiguous: there were numerous copy codes distributed or only a single copy code for all)


b.
She gave one student every copy code. (unambiguous: one student gets every copy code)

Question II. Build your own.  In their 1998 book Information Status and Noncanonical Word Order in English, Betty Birner and Gregory Ward discusses the argument-structure construction exemplified by the following (attested) examples:

(1) The most visually enticing selection is the chocolate “delice”: a hatbox-shaped dessert made of dark chocolate and filled with berries and white chocolate mousse. Surrounding the creation is a mosaic of four fruit sauces. 

(2) The West was still a region of great wildness, a fact that had earned it the nickname The Great Plains. In this rough, untamed environment had emerged the cowboy, a hard-ridin’, cow-punchin’ breed of hombre who was to become the stuff of several major cigarette promotions. 

(3) He was making tea and warming his deeply lined, cracked hands on the pot—under his ragged nails was the mechanic’s permanent, oil-black grime. 

(4) You can drive as fast as you like in the outside lane on a German highway and may feel like the king of the road—until you look in the rearview mirror. Zooming in on you like a guided missile comes a rival contender, bullying you to get out of the way. 

(5) From the lips of a cab driver came an enlightened expression that I thought should be shared. 

Informally describe an argument-structure construction that would account for all of the above examples. Consider the following issues:

1. What kinds of thematic roles would the linking construction have to specify?

2. What classes of verbs combine with the linking construction? In particular, what is their transitivity?

3. What grammatical functions would the linking construction have to specify? In particular, does this construction have a subject?

4. What syntactic categories would the construction have to specify?

5. What discourse-pragmatic constraints might there be on the construction and how would you specify them? (Think in terms of statuses like ‘discourse-new’ or ‘topic’.)

